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Max(min the following functions w/ these constraints
a) 2- = 2x -y 1=2×-8
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b) 2- = - 2x +y
- 1=-2×+8

( 1,3) : 2- = I ←Bigger
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Min : None Z decreases

Max : 2-=/ at ( 1,3)



c) z=2xty 8=2×+8
y
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Min : 7=5 at (1,3) Z increases

Max : None L
2- decreases



Matrices
-

Def: A matrix a rectangular array of numbers
*in :c: ÷

size
2×3

q
T

size 4×3

The size of a matrix is (# rows ) x (# columns)
We can define addition and multiplication with matrices



Addition
-
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Go across row of 1st
matrix

Go along columnMultiplication : Weird !
y µqof, 2nd matrix

k¥7 .li?=ci:::::ii::::i(2×1)

Lustful- ch = 1,6687)
To multiply : # columns of 1stmatrix

=# rows 2ndmatrix !



Example : a)

" i:* ÷÷÷: ::
-
- f: :3



" kill : it.ci:::: ::
=L 's :3

Remark : It is not true in general that
AB =BA for matrices A and B


